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Example

1. If possible,find the length of the

line,segments joining the following pairs of

points without using the distance

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_4F2tyDg0lswN


formula.A(1,4) and B(6,4),B(-2,-3) and C(6,-3)

D(2,3) and E(2,-7).

Watch Video Solution

2. Arrange the following points in the

ascending order of their distance from the

origin:A(2,3),B(-2,2), ,

,E(-1,-1) and 

Watch Video Solution

C(√2, 2) D(√2, √3)

F(√2, − √2)

https://dl.doubtnut.com/l/_4F2tyDg0lswN
https://dl.doubtnut.com/l/_u3LHMS3V1rMb


3. If the distance of the point from the

origin is  units.Find the value of k.

Watch Video Solution

(k, √2)

√3

4. Two lines parallel to the y-axis and at a

distance of2 units from the x-axis are taken.

Another two lines parallel to the x-axis and at

a distance of 3 units from the y-axis are also

taken. Find the distance of the angular points

https://dl.doubtnut.com/l/_0nHKNpiE8IEW
https://dl.doubtnut.com/l/_iGfRJUaFxmG4


of the rectangle, formed by the four

intersecting line segments, from the origin.

Watch Video Solution

5. Find the distance between the following

pairs of points.[By using distance formula]:

(i)A(2,3),B(4,1)

Watch Video Solution

https://dl.doubtnut.com/l/_iGfRJUaFxmG4
https://dl.doubtnut.com/l/_1PX3h5DmGWUy


6. Find the distance between the following

pairs of points.[By using distance formula]:

(ii)C(-5,7),D(-1,-3)

Watch Video Solution

7. Find the distance between the following

pairs of points.[By using distance formula]:(iii)

E(a,2b),F(-3a,-2b)

Watch Video Solution

https://dl.doubtnut.com/l/_ScmPaSuUPUa4
https://dl.doubtnut.com/l/_ee9MkqSAbuih
https://dl.doubtnut.com/l/_Q80sjl2mX3Ys


8. Find the value of k if the three points

A(2,3),B(4,k) and C(6,-3) are collinear.

Watch Video Solution

9. On what condition,will the point (x,y) be

equidistant from the two points (7,1) and (3,5)?

Watch Video Solution

https://dl.doubtnut.com/l/_Q80sjl2mX3Ys
https://dl.doubtnut.com/l/_QIfSx96whYjt


10. If a point (x,y) is equidistant from the two

points (3,6) and (-3,4),then find the relation

between x and y.

Watch Video Solution

11. If the point P(x,y) is equidistant from the

two points A(a,b) and B(b,a),then show that

x=y.

Watch Video Solution

https://dl.doubtnut.com/l/_7L8w3n6O0ROy
https://dl.doubtnut.com/l/_fP1WIMmbFnfG
https://dl.doubtnut.com/l/_sWehBsYmuhlG


12. Show that the triangle formed by the three

points (5,-2),(6,4) and (7,-2) is isosceles.

Watch Video Solution

13. Find the coordinates of the points on the y-

axis which is equidistant from the two points

(4,-10) and (-4,18).

Watch Video Solution

https://dl.doubtnut.com/l/_sWehBsYmuhlG
https://dl.doubtnut.com/l/_qPeupvzO10n6


14. Find the areas of the triangle formed by

the points whose coordinates are given below:

(i)(5,-2),(6,4),(7,-2)

Watch Video Solution

15. Find the areas of the triangle formed by

the points whose coordinates are given below:

(ii)(1,2),(2,-3),(-3,-4)

Watch Video Solution

https://dl.doubtnut.com/l/_zTPfzVTo5aM8
https://dl.doubtnut.com/l/_aCWIfxnpKK2r
https://dl.doubtnut.com/l/_rr5kjD1nmO8Z


16. Find the areas of the triangle formed by

the points whose coordinates are given below:

(iii)(a,a+1),(-a,a,-1),(0,-a)

Watch Video Solution

17. Find the areas of the quadrilaterals formed

by the following points:(i)(6,1),(5,6),(2,4),(4,1)

Watch Video Solution

https://dl.doubtnut.com/l/_rr5kjD1nmO8Z
https://dl.doubtnut.com/l/_B7dQxUrMiXKw


18. Find the areas of the quadrilaterals formed

by the following points:(ii)(1,2),(-1,3),(-2,-3),(4,-2)

Watch Video Solution

19. Find the area of the triangle formed by the

three pointsA(3,4),B(-4,3)and C(8,-6).With the

help of this,Find the length of the

perpendicular drawn from A to BC.

Watch Video Solution

https://dl.doubtnut.com/l/_AEJDj9fxgLXZ
https://dl.doubtnut.com/l/_qQOX3jQTQt3k
https://dl.doubtnut.com/l/_51l8arm5DiRM


20. Find the coordinates of the points which

divide the line segment joining the following

pairs of points internally in the ratios given

alongside.(i)(-8,-5),(7,10)(ratio 3:1)

Watch Video Solution

21. Find the coordinates of the points which

divide the line segment joining the following

pairs of points internally in the ratios given

alongside.(ii)(-4,3),(2,-7) (ratio 2:3)

Watch Video Solution

https://dl.doubtnut.com/l/_51l8arm5DiRM
https://dl.doubtnut.com/l/_W9NOEthnDiZh


22. Find the coordinates of the points which

divide the line segment joining the following

pairs of points internally in the ratios given

alongside.(iii)(6,0),(0,3) (ratio 1:2)

Watch Video Solution

23. Find the coordinates of the points which

divide the line segment joining the following

https://dl.doubtnut.com/l/_W9NOEthnDiZh
https://dl.doubtnut.com/l/_C0qcsEEbAHn1
https://dl.doubtnut.com/l/_ss0SjO9EAl02


pairs of points internally in the ratios given

alongside.(iv)(-4,7),(-2,-5) (ratio 1:4)

Watch Video Solution

24. Find the coordinates of the mid-points of

the line segments which join the following

pairs of points:(i)(2a,0),(0,2a)

Watch Video Solution

https://dl.doubtnut.com/l/_ss0SjO9EAl02
https://dl.doubtnut.com/l/_JMm8a9TvwxCl


25. Find the coordinates of the mid-points of

the line segments which join the following

pairs of points:(ii)(a,2a),(-2a,-a)

Watch Video Solution

26. Find the coordinates of the mid-points of

the line segments which join the following

pairs of points:(iii)(a+2b,2a-b),(a,b)

Watch Video Solution

https://dl.doubtnut.com/l/_ZRTkyVgNmIPq
https://dl.doubtnut.com/l/_ALxZFaqhGoO5
https://dl.doubtnut.com/l/_RBnuhXQYZUKm


27. Find the coordinates of the mid-points of

the line segments which join the following

pairs of points:(iv)

Watch Video Solution

((a + b), (a + b)2), ((a − b), (a − b)2)

28. Find the coordinates of the centroids of

the triangles formed by the following points:

(i)(a,2a),(2a,3a),(3a,a)

Watch Video Solution

https://dl.doubtnut.com/l/_RBnuhXQYZUKm
https://dl.doubtnut.com/l/_FPUZBdFnIFoT


29. Find the coordinates of the centroids of

the triangles formed by the following points:

(ii)(1,0),(0,2),(-1,-2)

Watch Video Solution

30. Find the coordinates of the centroids of

the triangles formed by the following points:

(iii)(4,4),(-1,0),(0,-1)

Watch Video Solution

https://dl.doubtnut.com/l/_kkA1wYDXVwqA
https://dl.doubtnut.com/l/_AyvNPIr64UqH
https://dl.doubtnut.com/l/_ruY83grH69Z9


31. Find the coordinates of the centroids of

the triangles formed by the following points:

(iv)(a+b-c,a-2b),(b+c-a,b-2c),(c+a-b),c-2a)

Watch Video Solution

32. A line segment AB is internally divided by

the point P(1,1) in the ratio 3:1.If the

coordinates of A are (-5,4),then find the

coordinates of B.

Watch Video Solution

https://dl.doubtnut.com/l/_ruY83grH69Z9
https://dl.doubtnut.com/l/_E7Qy3MPm37lL


33. Find the ratio in which the point of

intersection of the x-axis and the line segment

which joins the points (3,5) and (2,-7) internaly

divides the line segment.Also find the

coordinates of the point.

Watch Video Solution

34. Two vertices of a triangle are (1,3) and

(3,1),If the coordinates of the centroid of the

https://dl.doubtnut.com/l/_N6ID3iVIw6mx
https://dl.doubtnut.com/l/_2azfBKZ0JA6D


triangle is (2,1),find the coordinates of the

third vertex of the triangle.

Watch Video Solution

35. If A(5,-1),B(-1,7) and C(1,2) are the verticles of

a triangle find the equation of the internal

bisector of 

Watch Video Solution

∠A

https://dl.doubtnut.com/l/_2azfBKZ0JA6D
https://dl.doubtnut.com/l/_B1CjrlnKa9LH


Exercise

36. If

 are

the vertices of a parallelogram,show that

 and .

Watch Video Solution

(α1, β1), (α2, β2), (α3, β3) and (α4, β4)

α1 + α3 = α2 + α4 β1 + β3 = β2 + β4

1. Find the distance between the following

pairs of points:(i)(2,3),(4,1)

https://dl.doubtnut.com/l/_gnSDRvNjkIkr
https://dl.doubtnut.com/l/_JPCZWTDOnSgN


Watch Video Solution

2. Find the distance between the following

pairs of points:(ii)(-5,7),(-1,3)

Watch Video Solution

3. Find the distance between the following

pairs of points:(iii)(a,b),(-a,-b)

Watch Video Solution

https://dl.doubtnut.com/l/_JPCZWTDOnSgN
https://dl.doubtnut.com/l/_3XDz28tMNPoJ
https://dl.doubtnut.com/l/_Bn4bFwG6uMQi
https://dl.doubtnut.com/l/_GS6HuyAGcWw4


4. Find the distance between the points(0,0)

and (36,15).

Watch Video Solution

5. Determine if the points (1,5),(2,3) and (-2,-11)

are collinear.

Watch Video Solution

6. Check whether (5,-2),(6,4) and (7,-2) are the

vertices of an isosceles triangle.

https://dl.doubtnut.com/l/_GS6HuyAGcWw4
https://dl.doubtnut.com/l/_gJtuFEoe4MAQ
https://dl.doubtnut.com/l/_CzikpRv0J140


Watch Video Solution

7. In a classroom.4 friends are seated at the

points A,B,C and D as shown in Fig.7.8 Champa

and Chameli walk into the class and after

observing for a few minutes Champa asks

Chameli."Don't you think ABCD is a

square?"Chameli disagrees.Using distance

https://dl.doubtnut.com/l/_CzikpRv0J140
https://dl.doubtnut.com/l/_hYdN0HmaFEAl


formula,find which of them is correct. 

Watch Video Solution

8. Name the type of quadrilateral formed,if

any,by the following points,and give reasons

https://dl.doubtnut.com/l/_hYdN0HmaFEAl
https://dl.doubtnut.com/l/_xoEqIGtCVofa


for your answer:(i)(-1,-2),(1,0),(-1,2),(-3,0)

Watch Video Solution

9. Name the type of quadrilateral formed,if

any,by the following points,and give reasons

for your answer:(ii)(-3,5),(3,1),(0,3),(-1,-4)

Watch Video Solution

10. Name the type of quadrilateral formed,if

any,by the following points,and give reasons

https://dl.doubtnut.com/l/_xoEqIGtCVofa
https://dl.doubtnut.com/l/_rPjZ4jTEmGnG
https://dl.doubtnut.com/l/_ENQkVJ6KjRqh


for your answer:(iii)(4,5),(7,6),(4,3),(1,2)

Watch Video Solution

11. Find the point on the x-axis which is

equidistance from(2,-5) and (-2,9).

Watch Video Solution

12. Find the value of y for which the distance

between the pointsP(2,-3) and Q(10,y) is 10

units.

https://dl.doubtnut.com/l/_ENQkVJ6KjRqh
https://dl.doubtnut.com/l/_TBqMWPNvqVAh
https://dl.doubtnut.com/l/_yP515hInvezh


Watch Video Solution

13. If Q(0,1) is equidistant from P(5,-3) and

R(x,6).Find the values of x.Also find the

distance QR and PR.

Watch Video Solution

14. Find a relation between x and y such that

the point(x,y) is equidistant from the point

(3,6) and (-3,4).

https://dl.doubtnut.com/l/_yP515hInvezh
https://dl.doubtnut.com/l/_SFmClgH8WmVW
https://dl.doubtnut.com/l/_CE4LPjWxsw6F


Watch Video Solution

15. Find the coordinates of the point which

divides the join of (-1,7) and (4,-3) in the ratio

2:3.

Watch Video Solution

16. Find the coordinates of the points of

trisection of the line segment joining (4,-1) and

(-2,-3).

Watch Video Solution

https://dl.doubtnut.com/l/_CE4LPjWxsw6F
https://dl.doubtnut.com/l/_MMsDM4Mz6SlY
https://dl.doubtnut.com/l/_1OIHfICd56gh


17. Find the ratio in which the line segment

joining the points (-3,10) and (6,-8) is divided by

(-1,6)

Watch Video Solution

18. Find the ratio in which the line segment

joining A(1,-5) and B(-4,5) is divided by the x-

axis.Also find the coordinates of the point of

division.

https://dl.doubtnut.com/l/_1OIHfICd56gh
https://dl.doubtnut.com/l/_OrkwEHLKSn0p
https://dl.doubtnut.com/l/_j9TA27oJOibH


Watch Video Solution

19. If (1,2),(4,y),(x,6) and (3,5) are the vertices of

a parallelogram taken in order,find x and y.

Watch Video Solution

20. Find the coordinates of a point A,where AB

is the diameter of a circle whose centre is (2,-3)

and B is (1,4).

Watch Video Solution

https://dl.doubtnut.com/l/_j9TA27oJOibH
https://dl.doubtnut.com/l/_uG7UzC2FHTW0
https://dl.doubtnut.com/l/_6Gb6TrIQjtqB


21. If A and B are (-2,-2) and

(2,-4),respectively,find the coordinates of P

such that AP=3/7 AB and P lies on the line

segment AB.

Watch Video Solution

22. Find the coordinates of the points which

divide the line segment joining A(-2,2) and

B(2,8) into four equal parts.

Watch Video Solution

https://dl.doubtnut.com/l/_6Gb6TrIQjtqB
https://dl.doubtnut.com/l/_m21JWbh8Cyxr
https://dl.doubtnut.com/l/_MScr3PrZ7V0F


23. Find the area of a rhombus if its vertices

are (3,0),(4,5),(-1,4) and (-2,-1) taken inorder.

Watch Video Solution

24. Find the area of the triangle whose vertices

are.(i)(2,3),(-1,0),(2,-4)

Watch Video Solution

https://dl.doubtnut.com/l/_MScr3PrZ7V0F
https://dl.doubtnut.com/l/_M57A0CvMvVvS
https://dl.doubtnut.com/l/_OrxEe1bZTwlk


25. Find the area of the triangle whose vertices

are.(ii) (-5,-1),(3,-5),(5,2)

Watch Video Solution

26. In each of the following find the value of

'k',for which the points are collinear.(i)(7,-2),

(5,1),(3,k)

Watch Video Solution

https://dl.doubtnut.com/l/_GQT7aZ0l5uzD
https://dl.doubtnut.com/l/_7TzirKKCYAat


27. In each of the following find the value of

'k',for which the points are collinear.(ii)(8,1),

(k,-4),(2,-5)

Watch Video Solution

28. Find the area of the triangle formed by

joining the mid-points of the sides of the

triangle whose vertices are (0,-1),(2,1) and

(0,3).Find the ratio of this area to the area of

the given triangle.

https://dl.doubtnut.com/l/_cwfeTsSdZviQ
https://dl.doubtnut.com/l/_EEZdKmdb2yAw


Watch Video Solution

29. Find the area of the quadrilateral whose

vertices,taken in order,are (-4,-2),(-3,-5),(3,-2)

and (2,3).

Watch Video Solution

30. You have studied in Class IX (Chapter

9,Example 3),that a median of a triangle

divides in into two triangles of equal

https://dl.doubtnut.com/l/_EEZdKmdb2yAw
https://dl.doubtnut.com/l/_ShUqxG1usvs2
https://dl.doubtnut.com/l/_GjbiR5J7iyg7


areas.Verify this result for  whose

vertices are A(4,-6),B(3,-2) and C(5,2).

Watch Video Solution

△ ABC

31. Determine the ratio in which the line 2x+y-

4=0 divides the line segment joinig the points

A(2,-2) and B(3,7).

Watch Video Solution

https://dl.doubtnut.com/l/_GjbiR5J7iyg7
https://dl.doubtnut.com/l/_ChYBrU7wGB1I


32. Find a relation between x and y if the

points (x,y),(1,2) and (7,0) are collinear.

Watch Video Solution

33. Find the centre of a circle passing through

the points(6,-6),(3,-7) and (3,3).

Watch Video Solution

https://dl.doubtnut.com/l/_Q33nPkdHv98J
https://dl.doubtnut.com/l/_sQNDgNb1CCcC


34. The Class X students of a secondary school

in Krishinagar have been allotted a

rectangular plot of land for their gardening

activity.Sapling of Gulmohar are planted on

the boundary at a distance of 1 m from each

other.There is a triangular grassy lawn in the

plot as shown in the Fig.7.14.The students are

to sow seeds of flowering plants on the plot.




https://dl.doubtnut.com/l/_Q2O6q6A9q6bf


(i)Talking A as origin,find the coordinates of

the vertices of the triangle

Watch Video Solution

35. The Class X students of a secondary school

in Krishinagar have been allotted a

rectangular plot of land for their gardening

activity.Sapling of Gulmohar are planted on

the boundary at a distance of 1 m from each

other.There is a triangular grassy lawn in the

plot as shown in the Fig.7.14.The students are

https://dl.doubtnut.com/l/_Q2O6q6A9q6bf
https://dl.doubtnut.com/l/_mHgIHDAAnJqb


to sow seeds of flowering plants on the plot.




(ii) What will be the coordinates of the vertices

of  if C is the origin?

Watch Video Solution

△ PQR

36. Let A(4,2),B(6,5) and C(1,4) be the vertices of

.(i)The median from A meets BC at△ ABC

https://dl.doubtnut.com/l/_mHgIHDAAnJqb
https://dl.doubtnut.com/l/_besLeVfC4bBz


D.Find the coordinates of the points D.

Watch Video Solution

37. Let A(4,2),B(6,5) and C(1,4) be the vertices of

.(ii)Find the coordinates of the points

P on AD such that AP:PD=2:1.

Watch Video Solution

△ ABC

38. Let A(4,2),B(6,5) and C(1,4) be the vertices of

.(iii)Find the coordinates of points Q△ ABC

https://dl.doubtnut.com/l/_besLeVfC4bBz
https://dl.doubtnut.com/l/_P5o40AdNk9ky
https://dl.doubtnut.com/l/_9BxdUQzCXqsT


and R on medians BE and CF respectively such

that BQ:QE=2:1 and CR:RF=2:1.

Watch Video Solution

39. Let A(4,2),B(6,5) and C(1,4) be the vertices of

.(iv)What do you observe?

Watch Video Solution

△ ABC

40. If are

the vertices of ,find the coordinates

A(x1, y1), B(x2, y2) and C(x3, y3)

△ ABC

https://dl.doubtnut.com/l/_9BxdUQzCXqsT
https://dl.doubtnut.com/l/_Ky9akHn2xMDk
https://dl.doubtnut.com/l/_5DknawcijH36


of the centroid of the triangle.

Watch Video Solution

41. ABCD is a rectangle formed by the points

A(-1,-1),B(-1,4),C(5,4) and D(5,-1).P,Q,R and S are

the mid-points of AB,BC,CD and DA

respectively.Is the quadrilateral PQRS a

square?a rectangle?or a rhombus?Justify your

answer.

Watch Video Solution

https://dl.doubtnut.com/l/_5DknawcijH36
https://dl.doubtnut.com/l/_kqgXButv0sAw
https://dl.doubtnut.com/l/_y1jlixgTvs7B


42. What is the distance of the point P(4,-3)

from the origin?

Watch Video Solution

43. What is the distance between (0,5) and

(-5,0)?

Watch Video Solution

https://dl.doubtnut.com/l/_y1jlixgTvs7B
https://dl.doubtnut.com/l/_9Yo9b2VHIKNS


44. If the distance between the point A(2,-2)

and B(-1,x) is 5 then what is the value of x?

Watch Video Solution

45. What is the distance of the point P(2,3)

from the x-axis?

Watch Video Solution

https://dl.doubtnut.com/l/_xzMsDgThtXlz
https://dl.doubtnut.com/l/_LyWgx6wkCkrm


46. What is the Co-ordinate of midpoint of

(2a,0) and (0,2a)?

Watch Video Solution

47. If the point A(4,3) and B(x,5) are on the

circle with centre C(2,3)then find the value of x.

Watch Video Solution

https://dl.doubtnut.com/l/_giIgXaHB6al8
https://dl.doubtnut.com/l/_PnN2sC1hRU3n


48. If A(-1,0),B(5,-2) and C(8,2) are the vertices

of a then find its centroid.

Watch Video Solution

△ ABC

49. What is the x-coordinate on y-axis?

Watch Video Solution

50. What is the co-ordinate of origin?

Watch Video Solution

https://dl.doubtnut.com/l/_GyyOKVd7s4Jp
https://dl.doubtnut.com/l/_FTdr1eQkoaD6
https://dl.doubtnut.com/l/_wpTf92epwcIG


51. What is the image of point (2,-3) under x-

axis?

Watch Video Solution

52. The distance between the points A(2,-3)

and B(2,2) is

a)2 units
b)3 units
c)4 units
d)5 units

A. 2 units

B. 3 units

https://dl.doubtnut.com/l/_wpTf92epwcIG
https://dl.doubtnut.com/l/_WMPHc5B9zj5Q
https://dl.doubtnut.com/l/_KBwzpeIuhNuR


C. 4 units

D. 5 units

Answer:

Watch Video Solution

53. The distance of the point P(-6,8) from the

origin is 

a)2
b)5
c)10
d)

A. 2

√2

https://dl.doubtnut.com/l/_KBwzpeIuhNuR
https://dl.doubtnut.com/l/_JqSwMbk2roKT


B. 5

C. 10

D. 

Answer:

Watch Video Solution

√2

54. The distance between the points

and is 


a)1
b)2
c) 
d)

(cos θ, sin θ) (sin θ, − cos θ)

√2 √3

https://dl.doubtnut.com/l/_JqSwMbk2roKT
https://dl.doubtnut.com/l/_lqzo2wwThPHY


A. 1

B. 2

C. 

D. 

Answer:

Watch Video Solution

√2

√3

55. The distance of the point (4,7) from the x-

axis is 

a)7
b)4
c) 
d)11√65

https://dl.doubtnut.com/l/_lqzo2wwThPHY
https://dl.doubtnut.com/l/_ddqIwpAzka6a


A. 7

B. 4

C. 

D. 11

Answer:

Watch Video Solution

√65

56. The distance of the point (4,7) from the y-

axis is 

a)7
b)4
c) 
d)11√65

https://dl.doubtnut.com/l/_ddqIwpAzka6a
https://dl.doubtnut.com/l/_vDBneiytsv8z


A. 7

B. 4

C. 

D. 11

Answer:

Watch Video Solution

√65

57. If the pointP(x,y) is equidistant from A(5,1)

and B(-1,5) is,then

https://dl.doubtnut.com/l/_vDBneiytsv8z
https://dl.doubtnut.com/l/_uhNHQy7DtQsl


A. 2x=3y

B. 3x=2y

C. x=5y

D. 5x=y

Answer:

Watch Video Solution

58. The two vertices of a triangle are A(6,3) and

B(-1,7) and its centroid is G(1,5) then its third

https://dl.doubtnut.com/l/_uhNHQy7DtQsl
https://dl.doubtnut.com/l/_8jeTpE7j04nn


vertex C of will be -


a)(2,5)
b)(2,-5)
c)(-2,5)
d)(-2,-5)

A. (2,5)

B. (2,-5)

C. (-2,5)

D. (-2,-5)

Answer:

Watch Video Solution

△ ABC

https://dl.doubtnut.com/l/_8jeTpE7j04nn


59. If A(0,3),B(3,6) and C(6,9) are the vertices of

a triangle then its centroid will be 

a)(3,6)
b)(-3,-6)
c)(6,3)
d)(-6,-3)

A. (3,6)

B. (-3,-6)

C. (6,3)

D. (-6,-3)

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_OfAdJF57ho7G


60. If three points (0,0),  and (3,x)

form an equilateral triangle then the value of x

will be __-

a)2
b)-3
c)-4
d)None of these

A. 2

B. -3

C. -4

D. None of these

Answer:

Watch Video Solution

( − 3, − 6)

https://dl.doubtnut.com/l/_rQOwhIPCN3bU


61. If P(a/3,4) is the midpoint of the line

segment joining A(-6,5) and B(-2,3) then the

value of a will be

a)-6
b)-4
c)12
d)-12

A. -6

B. -4

C. 12

D. -12

https://dl.doubtnut.com/l/_rQOwhIPCN3bU
https://dl.doubtnut.com/l/_AhJeozYU3nyE


Answer:

Watch Video Solution

62. If P(-1,1) is the midpoint of the line segment

joining A(-3,b) and B(1,b+4) then the value of b

will be

A. 0

B. 1

C. -1

D. 2

https://dl.doubtnut.com/l/_AhJeozYU3nyE
https://dl.doubtnut.com/l/_NJUgpGHJFZI9


Answer:

Watch Video Solution

63. x-axis divide the line segment joining

A(2,-3) and B(5,6) in the ratio

A. 

B. 

C. 

D. 

1: 2

2: 1

1: 3

3: 1

https://dl.doubtnut.com/l/_NJUgpGHJFZI9
https://dl.doubtnut.com/l/_MD55cP1YzSEu


Answer:

Watch Video Solution

64. y-axis divide the line segment joining

A(-4,2) and B(8,3) in the ratio

A. 

B. 

C. 

D. 

1: 2

3: 1

1: 3

2: 1

https://dl.doubtnut.com/l/_MD55cP1YzSEu
https://dl.doubtnut.com/l/_pV1XtdCBH8RT


Answer:

Watch Video Solution

65. A(-4,0),B(4,0) and C(0,3) are the vertices of

_-

a)an Equilateral triangle
 b)an Isosceles

triangle
 c)a Right angled triangle
 d)a Scalane

triangle

A. an Equilateral triangle

B. an Isosceles triangle

https://dl.doubtnut.com/l/_pV1XtdCBH8RT
https://dl.doubtnut.com/l/_hQxnBl9J5lju


C. a Right angled triangle

D. a Scalane triangle

Answer:

Watch Video Solution

66. If A(2,2),B(-4,-4) and C(5,-8) are the vertices

of a triangle then the length of the median

through vertex C is _--

A. √65

https://dl.doubtnut.com/l/_hQxnBl9J5lju
https://dl.doubtnut.com/l/_EEi5l78U3W49


B. 

C. 

D. 

Answer:

Watch Video Solution

√85

√113

√117

67. If the centroid of a triangle is (1,4) and two

of its vertices are (4,-3) and (-9,7) then the area

of the triangle is

https://dl.doubtnut.com/l/_EEi5l78U3W49
https://dl.doubtnut.com/l/_6c7LK8LmzMtH


A. 183 Sq.units

B. 183/2 Sq.units

C. 366 Sq.units

D. 183/4 Sq.units

Answer:

Watch Video Solution

68. If the points A(1,2),B(0,0) and C(a,b) are

collinear then

https://dl.doubtnut.com/l/_6c7LK8LmzMtH
https://dl.doubtnut.com/l/_51rpQkIcN8nv


A. a+b=0

B. a=b

C. a=2b

D. 2a=b

Answer:

Watch Video Solution

69. If the points A(2,3),B(5,k) and C(6,7) are

collinear then k is

https://dl.doubtnut.com/l/_51rpQkIcN8nv
https://dl.doubtnut.com/l/_lgR62YY2U9xo


A. k=6

B. k=4

C. k=-3/2

D. k=11/4

Answer:

Watch Video Solution

70. The area formed by ,B(b,c+a)

and C(c,a+b) is

A(a, b + c)

https://dl.doubtnut.com/l/_lgR62YY2U9xo
https://dl.doubtnut.com/l/_slfDVxxWCwt4


A. 

B. a+b+c

C. abc

D. O

Answer:

Watch Video Solution

(a + b + c)2

https://dl.doubtnut.com/l/_slfDVxxWCwt4

